CLASS-10+1 CH-7 PERMUTATIONS & COMBINATIONS
EX-7.4 BOOK-NCERT TOPIC- COMBINATIONS
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1. If "C,="C, find "C,
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3. How many chords can be drawn through 21 points on a circle?
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4. W many ways can a team of 3 boys and 3 girls be selected frond
4 qirls? (— 4V

G ro cL 174‘34:5
- 4 gl Y

e pe U Sdect  toun ‘ﬁL,K'oo% £ 15l

A
— Sl xMZ s®ExF] Xy




'Y\’:_
5. Find the number of ways of selecting 9 balls fror 6 red ballsy5 white balls nd 5
blue balls if each selection consists of 3 balls of eachcolour. -
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6. Determine the number o ombinations out of a deck of 52 cards if there
N

is exactly one ace in each tombination.
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7. In how many ways can one select a cricket team of eleven from 17 players in
which only 5 players can bowTiT each crickel team of TTmust include exactly 4

bowlers?
of Torrt e =10 [0 AT 5 Gl
& =

el ot 1)
(R—h"‘p \G-CYVL—\CS ) \2
11— - g
— SX 2] — CxolzX OXeXaxexlL = S X 'IIX?ZSAS
S|l ‘o tXox 1+ = $XUXTY
= SX19X4

8. Abag contains 5 black and 6 red balls. Determine the number of ways in which — 560

yA~ 2 black and 3 red balls can be selected.
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9. Inhow many ways can a student choose a programme of 5 courses if 9 courses
are available and 2 specific courses are compulsory for every student?
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